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“Then under certain conditions, the existence of an underground economy raises social

welfare.”
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4. (16%) Answer the following questions in the discussion of public good provision:

(1). (8%) Some argues that perfect price discrimination is a way to solve the free rider problem
associated with public good provision. Why?

(2). (8%) Please explain the basic concept of the Clarke-Groves mechanism.

5. (15%) Answer the following questions with regard to pollution reduction:

(1). (9%) What are the problems associated with Pigouvian taxation when it comes to correcting
distortion caused by externality?

(2). (6%) From a long run perspective, why is Pigouvian subsidy not a good measure to deal with
externality?

6. (20%) Suppose that the demand curve fox a particular commeodity is 0" =a—- [P, where
QP is the quantity demanded, P isthe price,and @,/ are constants, both larger than
zero. The supply curve for the commodity is 0% =y +5P,where O° is the quantity
supplied, P is the price,and 5 are constants, § > 0.Prove algebraically that the post-
tax equilibrium (consisted of a consumer price, a producer price, and the quantity associated
with these prices) is the same regardless of whether the tax is imposed on consumers or
producers.
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